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= -
If P, = 100 mm of Hg, Pg = 500 mm of Hg and have(same no. of moles )in

solution. Find vapour pressure of solution.

(a) 100 mm of Hg (b) 150 mm of Hg
@)/ 300 mm of Hg (d) 500 mm of Hg
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If Py = 100 mm of Hg, Pg = 500 mm of Hg and in solution both have same
mass and M, = 20 gand M, = 200 g. Find vapour pressure of solution.

(aTBOO mm of Hg \,(b’)/ 46.35 mnﬁf@
(c) 250 mm of Hg (d) 400 mm of Hg
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If vapour pressure of @nd B are 200 anmand in @

solution has 2 moles of A and 6 moles of B. Find mole fraction of B in
vapour phase
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Find mole ratio of A and B in vapour phase if V.P. of solution is 160 torr. If @
V.P. of pure A and B are 100 mm of Hg and 200 mm of Hg.
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If vapour pressure of solution
I Ps=6-27g J
Find Py and Pg ?
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If in a solution 1 moles each of A and B are mixed. Find vapour pressure of @

solution if half of the total moles are vaporised (P, = 500 mm of Hg and Pg
=20 mm of Hg)
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If Py = 200 mm of Hg and Pg = 500 mm of Hg if 2 moles of A and B moles of
#are added

(a) find mole fraction of A and B in vapour phase in original solution.

() find mole fraction of A and B in bovud phase in Ist Condensate
(distillate)

(c) Find vapour pressure of solution in Ist Condensate (distillate)
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